
24 Gold Series & Pro Series UTV Sprayers

English

OVERVIEW

40 2

4

5
20

17

12

31

10

29

16

33

32

38

22

19

1

9

3439

7

14

11

13

36

37

8
15

29
25

28

6

3

21

18

38

23 27 26

23

28

35

24

G
O

LD
 SERIES U

TV SPRAYER



25Version 1.1

English

PARTS LIST
ITEM NO. PART # Description QTY.

1 AZFS055 55 gal Flat Pack Frame 1

2 AMTHSSCGY2  Cover for 55 SS tank 1

3 AMTHSS055FG  55 gal spot sprayer tank 1

4 CA3511221 8 inch lid 1

5 CA300116 8 inch filter basket 1

6 CPLF019  Stallion 2 in Blank Cap 1

7 APD02G060P  2GPM 60PSI  Pump 1

8 CA309A53 1 & 2 GPM Black Filter 1

9 CA9620422 1 & 2 GPM Regulator 1

10 CVAM100 100 PSI Pressure Gauge 1

11 CVS34BX1  1/4" Female x 1/4"Female T-handle Ball Valve 1

12 CVSW038 3/8 FPT X 3/8 MPT SWIVEL 1

13 CFBE00M01BA  .25MPT x .375 HB 45 Brass Elbow 1

14 CFPS00M01B .25 MPT x .375 HB 1

15 AZKS0001 Stainless Suction Hose Holder Bracket 1

16 CPPDD016 Shurflo Swivel Elbow with .37 HB 1

17 CVSTAL26  spray gun 18 inch barrel 1

18 CFPS01M01B  3/8" MPT x 3/8" Hose Barb Straight 1

19 CFPT01B 3/8 Hose Barb Tee 1

20 CVGC100 Wand Clip 2

21 CHMS900213 10-32 - 1/2 Pan head screw 2

22 CHBZ021525  5-16 x 3.5 Bolt Grade 5 4

23 CHNZN0225  5/16 Nylock nut 14

24 CHMS900523  10-24 x 1 PHMSPH SS Screw 4

25 CHWSK903  10 X .75 Fender Washer SS 4

26 CHBZ020725 5/16 x 1-1/2 bolt 10

27 CHWZF025 5/16 Flat washer 20

28 CFBE02B02BC  1-2" thru tank elbow 2

29 CLUESB020002 .5 EPDM Hose-pump to tank 2

30 CFCC003 CLAMP FOR 1/2 HOSE 5

31 CLUESB020002 .5 EPDM Hose-suction inside tank 1

32 CLUESB020001  .375 EPDM Hose-from regulator to HBTEE 1

33 CLUPCB01 5 Meters Coiled Hose 1

34 CLUESB020001  .375 EPDM Hose-from HB Tee to Shutoff valve 1

35 CFCC002 CLAMP FOR 3/8 HOSE 6

36 CLUESB020001 .375 EPDM Hose-Shutoff Valve to Quick Connect 1

37 CA006220  Brass Unions 10MM Heavy Combined 1

38 CFCC001  12-8 Clamp Cobra for coiled hose 2

39 CXSC0002 Cable Tie 8" 6

40 ASWC01 Wire Harness Kit 1

G
O

LD
 S

ER
IE

S 
U

TV
 S

PR
AY

ER


